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Use this to �nd the sum to in�nity of the series

1
12

+
1
32

+
1
52

+
1
72

+ :::::

and the sum to in�nity of
1
12

�
1
22

+
1
32

�
1
42

+ :::::

1Some of the problems here come from T. Gagen, Uni. of Syd. and from E. Szekeres , Macquarie Uni.
Senior problem 2 provided by David Treeby. Some problems from the Tournament of Towns
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2. Robin Hood's apprentice still has a lot to learn when it comes to archery. She can
always hit the target, but is equally likely to hit any point on the target. On a square
target, is she more likely to land an arrow closer to the bullseye (the centre) or to an
edge?
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